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Here, find the Thévenin equivalent circuit at the terminals A,B.
A Thévenin equivalent is a series voltage source and resistor.

Note that the circuit only has independent sources, so we’ll use the lookback method to find Rth.

Set all the circuit’s sources equal to zero.

0 A sources are like open circuits.

Now find the equivalent resistance looking into the terminals.

We have two sets of series elements, so replace those with the sum of their resistances.

Now we have three resistors that share the same pair of nodes. So they’re in parallel.

First combine the two 100 Ω resistors by dividing their value by two. This yields two 50 Ω resistors in parallel.

Divide their value by two to get Rt = 25 Ω.

Now find the open circuit voltage.

The highlighted branch is more easily drawn as a resistor between the same pair of nodes. Redraw the connection.

Combine the two 100 Ω resistors.

The resulting circuit is a current divider.

We want to find the current in the 50 Ω resistor so that we can find its voltage.

That current will be called I50.

I50 is the conductance of the path of interest divided by the total conductance seen by the source, multiplied by current.

Use Ohm’s law to find the voltage across the 50 Ω resistor.

This is I50 * 50, or 160 V.

The entire circuit is equivalent to a simpler circuit, shown above.

